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bar( x, height, width=0.8, bottom=None, align="

tick label=None, xerr=None, yerr=None, **kwargs )
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df=pd.read excel (' A#IE .x1sx',' S A", index col=0)
fig=plt.figure(figsize=(12,6))
bar (df.index,df["FERBEAD(JIA) '1)

plt.
plt.
plt.
.ylabel (' (A) ', fontsize=12)
plt.
plt.
plt.

plt

xticks (df. index)
ylim([128000,142000])

xlabel (' () ', fontsize=12)
title ('FERBANO', fontsize=15)
show ()
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plt.bar (df.index-0.2,df['BHAO (AAN) '],width=0.4) i
plt.bar (df.index+0.2,df['ZHAO (AAN) '],width=0.4) |
plt.legend (['EBHAO", ' &M AN']1,1l0c=0, fontsize=15, facecolor="gray"') |
plt.title('BEAD | ZXHAD', fontsize=15) |

plt.xticks (df. index) BHAD | ZHAD
plt.ylim([62000,73000]) mw--
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.bar (df.index-0.2,df["IMEANH (FFAN) ']1,color="r' ,width=0. 4)

.bar (df.index+0.2,df[' S AH (FHAN)'],color="g' ,width=0.4)
.legend (['EANO"',' 2N AH'],loc=0, fontsize=15, facecolor="gray')
title ("WEALD | M AQO", fontsize=15)

.Xticks (df. index)

.ylim ([45000,100000])

.ylabel (' (HA) ', fontsize=12)
.xlabel (' (Z4f}) ', fontsize=12)
.show ()
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plt.bar (df.index,df["WMEAND (FFA) ']1,width=0.4)

plt.bar (df.index,df['Z2MN AO (JFA) '],width=0.4 ,bottom=df["HEAND (FTA) 1)

plt.legend (['WEAD",' SN A0 '], loc="upper

left',fontsize=15, facecolor="gray' ,6 ncol=2)
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plt.bar (df.index-0.25,df['HHEAD (FFAN)'],width=0.4, :
yerr=df [ #HAN (FA) '1%0.02)

plt.bar (df.index+0.15,df[' 2N A (AA) '],width=0.4,
yerr=df[' 2R AH (HA)'1%¥0.02) = — o mrA | A
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matplotlib.pyplot.bar ()
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